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What is something, which applies - @2 3791 1981 23R2 371w 927 171K
to a man and does not apply to a woman

Overview

The Xn>>12 teaches us that the P10 of! A1 MR X WX anawn cannot be referring
either to a XY 71211 or to a 7"2 1M12» (for we know this already from other o’P109),
rather it refers to a v¥73, that he is freed by 927, X?°w 92 X217 explained? that ¥¥11 is
alluded to in the 109, since it says 'w°X', and only a ¥°X is ¥X73, but not an 7wX. Our
MooIN explains why it cannot be referring to something else

n1voIN asks:
= N0 N 1IN Gas mnw) 29NT YN v N9T 127 %2 911992 1T RPN 9IRN ON)Y

And if you will say; and let us say that this P09 of anawn refers to a 7'"52 y92mn,
which is not applicable by a woman, only by a man,* for it is written, ‘and he will
be sold for his theft’, but not for her theft.®

NID0IN answers:
= YN 179 1IN NP8 DY HAN 7AYWNL NN N30 DV DIPN DINT 990 U

And one can say; that nonetheless the ‘name’, ‘selling’ applies also by a woman,

however the name yx91 does not apply at all by a woman. Therefore it is preferable
to establish the P10 of WX apaw to a y¥71, rather than to a 7"2 y7on.

[mooIn asks:
— YN NN ¥NYN XY NPT 11997 N11nom)]

And it is astounding, that since the 109 only indicates ¥X91, as Mmoo just explained -

15,25 (m2) X

2 There are two (extra) o°05 that discuss 222 nx*%> (besides the P109 in 2,75 [72] X p>1 which states [regarding a
¥y 7211] that 9n¥ 729° 52170 NIW 7v); one is in X1 P09 172 which states \nnown YR 2w and the other is our P09 in 772
> P09 which states INTINR X WX anaw’. The X3 states that 1nnown X 2w refers to a 72 111797 and the 7109 of anawn
R refers to a ¥¥71 (and not the opposite), because of the explanation of X?°w 92 X2

32 P10 (owdwn).

4 See (end of mawn) in X,33 7010 and the X3 there on 2,30 (at the very end of the p7o).

5 If a man steals and cannot pay, he is sold as a slave and the money paid by the purchaser is given to the victim of the
crime. This is referred to as 7"°2 171191, However a woman in the same case is never sold as a slave by 7"2.

¢ Presumably we will derive that a ¥¥71 is 9212 XX from the 105 of 1MW PR 2w (see footnote # 2.) See ‘Thinking
it over’.

7 A woman can also be sold as a slave (by her father) similar to a 7" 17175, The slight difference that this one is sold
by 7"2, and the other is sold by her father is insufficient to categorize this as something which applies to a man and
not to a woman, since both can be sold.
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Why was it necessary for >"2 X" to say that the 2105 must be discussing a ¥x71, for
it cannot be discussing 7'"53 %7195 since that was already spoken about in another
?109]?! The aforementioned question [in brackets] is an addendum of @12 npen.

Summary
The concept of wR2a &1 w K2 31 apples more readily to ¥¥13, and not to 72171107,

since a woman can also be sold as a slave. [The Xn»92 should have stated directly
that the P09 of WX anawn refers to a ¥x¥71 (since this is 371 only w°X31), without
resorting to eliminate the other types of 0>72v. ]

Thinking it over
What difference does it make from which 2°7105 we derive® 2212 Ax°¥> by a 1m1on»
7"32 and by a v¥11 (whether it is from NOW» 5 2WY or MNNAR YR WK anawT)?

8 It appears from the Xn>12 that the (only) reason we establish this 105 of WX onaw’ by a v¥73, is because there is no
other option; all the other slaves (whether ¥y 1211 or 7"°2 ¥117571) were already spoken for. However the xn»92 did
not have to come to this conclusion only by a process of elimination; the Xn>72 could have said straight out that it is
discussing a ¥¥13, since it says ¥R, and a ¥¥71 is the only 72v which is w2 8?1 W K2 370,

% See footnote # 6.
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